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General Instructions :

Read the following instructions carefully and follow them :

(1)
(i)
(ii1)
(iv)
(v)

(vi)

(vii)

(viii)

(ix)

(x)

This question paper contains 33 questions. All questions are compulsory.
Question paper is divided into five sections — Sections A, B, C, D and E.
Section A - questions number 1 to 16 are multiple choice type questions. Each
question carries 1 mark.

Section B - questions number 17 to 21 are very short answer type questions.
Each question carries 2 marks.

Section C - questions number 22 to 28 are short answer type questions. Each
question carries 3 marks.

Section D - questions number 29 and 30 are case-based questions. Each
question carries 4 marks. Each question has subparts with internal choice in
one of the subparts.

Section E — questions number 31 to 33 are long answer type questions. Each
question carries 5§ marks.

There is no overall choice. However, an internal choice has been provided in
Sections B, C and D of the question paper. A candidate has to write answer for
only one of the alternatives in such questions.

Kindly note that there is a separate question paper for Visually Impaired
candidates.

Wherever necessary, neat and properly labelled diagrams should be drawn.

SECTION A

Questions no. 1 to 16 are Multiple Choice Type Questions, carrying 1 mark

each.

16x1=16

Embryo formation without fertilization is observed in some species of :
(A)  Maize (B) Rose
(C) Mango (D) Rice

The origin of life according to the early Greek philosophers was transfer

of unit of life from outer space to the different planets in the form of :

(A) seeds (B)  spores
(C) gemmules (D) gametes
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SSIUgehT qT Tfdea™Td hi hilRreRiaTl | foshfed 8F Tl STTSI-a YOI <hl
AT BRM SHHT:

(A) 2n,3n (B) 2n,n

(C)  3n,2n (D) n,2n

T ST @€ § 3000 ~JfFieEed &, N8 ¥ 160 &HH 8 | @ 30 AT
T T gl gIESioM 99 aTel &R (J8i) 1 g fehat gt ?
(A) 160 B) 320

(C) 1340 (D) 2680

Feie H 1850 o Gk < qvEIq UvE-SANTRU JT H AThicdeh 0T < JWTE
BALIEY HIel (Ta) U@l el ANl 1 3TU&T YoId Ul aTet TreAdi o

(A) &I A oft (B) o 37t off

(C) < <hl g&aT A oft (D) 2l <hl Tl 3fees off

fFrfafea s fowmd 0 o fog fomr & =afe &1 s $e, o fiw,
Qi Y a1 Hg 31113 €9 9 Gal 8l @ ?

A) T faEm

(B) =134 fagm

(C) weATgTheet fagm
(D) TUSIEH M

EISTH o TS IS1 el Th Y &1 SIS o Yad I8 ard die h |1y
TRl Sh{ET TR | 3Tk F, Gafd § qiafera amm .

(A 25% AT : 50% TS : 25% I
(B) 50% ATA : 50% ¥od

(C)  50% TS : 50% T

(D) 25% AT : 50% AT : 25% v




3. The ploidy of apomictic embryos developing from the nucellus and
antipodal cells respectively would be :

(A)  2n,3n (B) 2n,n
(C)  3n,2n (D) n,2n

4. A DNA fragment has 3000 nucleotides, out of which 160 are Guanine.
How many bases having double hydrogen bonds between them does this
DNA fragment possess ?
(A) 160 (B) 320

(C) 1340 (D) 2680

5. After the 1850s in the post-industrialisation era in England, the expected
effect of natural selection on the number of white-winged moths as
compared to the dark-winged moths was :

(A) Less in number (B) More in number
(C) Both were less in number (D) Both were more in number
6. In which of the following chromosomal disorders do the individuals have

short stature, small head, furrowed tongue and partially open mouth ?
(A)  Turner’s syndrome

(B) Down’s syndrome

(C)  Klinefelter’s syndrome

(D) Edwards’ syndrome

7. A Snapdragon plant bearing pink colour flowers is crossed with a
Snapdragon plant bearing white colour flowers. Their F; progeny will
show :

(A)  25% Red : 50% Pink : 25% White
(B) 50% Red : 50% White
(C)  50% Pink : 50% White

(D) 25% Pink : 50% Red : 25% White
57/3/3-13 5 AWMV P.T.O.



8. UHh UM PUHpH (WHhSi) o dAhS (Teegels) & Hehiua & s s, fogH,
i, fied qen 3nfoi % Trgd iR gis et uftafara gia & | ft o T
UgaH sl TS foh IHeh TshUUT T HIH 7

(A)  THISHIBEE (B)  TcsTHIaT faecifcrfeer
(C) &miftera swges (D)  GIiegiHaT Zis%l

9. T higd AT &S dRR g faeifass faieht St &t @rewiHor s
TdTEh TATSHS o a1 Teg (Sed) i UfshaT 36 TATEH g & 99 & Tehl

(A) 3 OIS (B) EIuAT AT
(C) vfdeeR Tg=yfaeTs (D) p-AFEESS

10. TH WM O F P el MYNH,Cl I% Gadd wiem o fosfaa foeen
(14N T3S 1 gooh! TUEATHS 8) | 3Heh UvElq $9 ATSeoH @ N
goeerntaes  (19N) I gadq miem ° 6 difeai qe wafdia foem mn | 6 difea
% G b SITAT ! Tepftid R T G CsCl oHcd YUl T 3TTeh=501 GRI
frsfia fovm M | CsCl o9c@ Jaurdr 39ehgul W ST & TE o
(Fcoh1/Hehita /ARY) 3R afedi o U sl TgaH HiT |

(A) HHRd : WRI, 1:16
(B) geehl : W{l, 1:31
(C) HehRd : WRI, 1:31
(D) ®oehl : WA, 1:05



8. A patient is suffering from the infection of the alveoli of lungs and is
showing the symptoms of fever, chills, cough, headache and bluish
coloured lips and finger nails. The patient was diagnosed to be suffering

from the infection of :

(A)  Epidermophyton (B)  Entamoeba histolytica
(C)  Haemophilus influenzae (D)  Salmonella typhi
9. The linking of the antibiotic resistance gene with the plasmid vector of

Salmonella typhimurium by Stanley Cohen and Herbert Boyer was made

possible by the enzyme :
(A) Taq polymerase (B) DNA ligase

(C)  Restriction endonuclease (D)  B-galactosidase

10. In an experiment, E. coli is grown in a medium containing 14NH4CI.
(4N is the light isotope of Nitrogen) followed by growing it for six
generations in a medium having heavy isotope of nitrogen (15N). After six
generations, their DNA was extracted and subjected to CsCl
density gradient centrifugation. Identify the correct density
(Light/Hybrid/Heavy) and ratio of the bands of DNA in CsCl density

gradient centrifugation.

(A) Hybrid : Heavy, 1: 16
(B) Light: Heavy, 1:31
(C) Hybrid : Heavy, 1:31

(D) Light: Heavy, 1:05
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11. SHfd # rEfifia geed 3ucied gF arel aifeafadt § g (sfeed) 6t smfe
! T AT Y TAISE Jhg a5k BT

12. PCR ¥ AT & ya¢4 o fou F=Afiifad o & -8 3UshMehi o dTaTieH
! TEl IhR ¥ fFefug = g 2




11. The population growth curve applicable for a population of beetles
growing in nature under unlimited resource conditions available to them
will be :

12. Which one of the following represents the correct annealing of primers to
the DNA to be amplified in the PCR ?
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Yo7 G 13 @ 16 % 178, 31 97 15T 7T¢ & — [57H T %1 37159 (A) a97 gt &1
FRUT (R) ZRT 319 137 1 3 | 37 I941 & @8l 3} 717 3¢ 7T #ist (A), (B), (C)

3% (D) 7 & gaa< Ao |
(A) 3R (A) 3R SR (R A1 & 7 3 RO (R), AlTHAT (A) i
gl SITeAT LAl 7 |
(B)  AfYHeH (A) 3T SRV (R) THI T&l 8, T R (R), 3UHAT (A) i
g AT FgT Rt 7 |

13.

14.

15.

16.

(C) AMHAA (A) Hal 8, Wg SR (R) T 3 |

(D) AR (A) TId 8, 9 SR (R) & 7 |

STIFIT (A) :

PRI (R) :

STIFHIT (A) :

PRI (R) :

TIFHIT (A) :

SR (R) :

3TTIFHIT (A) :

PRI (R) :

57/3/3-13
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ehglhdl H YR e@ (Tldieid) & 37e3heh hl &M
foTT ey (TeTSfEnT) UshA | ST USdl § |

epglohdl H TRIWh T (Jfdfeild) § Sacheh 9 31e3<heh gl

: qUT 37qheh 31k ald & |
_Eﬁﬁ_% N haNEaN %

forell =afth g0 Ueeblgial o fawepredt (sigd sifoss @ o)
T & Iehd i &l (Rrifem) ag=rdt @ |
UehIB A o T T 39k TG Ak o [ IHER % fag
THIG qAT SATMAH HEE I HRU &4 S 3 |
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For Questions number 13 to 16, two statements are given — one labelled as
Assertion (A) and the other labelled as Reason (R). Select the correct answer to these
questions from the codes (A), (B), (C) and (D) as given below.

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the

correct explanation of the Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not

the correct explanation of the Assertion (A).
(C)  Assertion (A) is true, but Reason (R) is false.

(D)  Assertion (A) is false, but Reason (R) is true.

13. Assertion (A): The zygote gives rise to heart-shaped embryo and

subsequently proembryo in most angiosperms.

Reason (R): 'The zygote is present at the micropylar end of the embryo

sac and develops into an embryo.

14. Assertion (A) : The stirrer facilitates the even mixing of oxygen

availability in a bioreactor.

Reason (R): Stirred-tank bioreactors generally have a flat base.

15. Assertion (A) : Primary transcripts in eukaryotes are subjected to

splicing to remove the introns.

Reason (R): Primary transcripts contain both exons and introns and

the introns are non-functional in eukaryotes.

16. Assertion (A) : The chronic use of alcohol by a person leads to cirrhosis.

Reason (R): Alcohol addiction at times becomes the cause of mental
and financial distress to the entire family of the addicted

person.
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Qs @

17. ‘Sceoed (UrEfE) e cid STl T HEEyul a8, W O
HIT § 36 W ATk gfdae o 37 8 1”7 heF 6l ~AErad g hifg |

18. TafYe @aTs It ST @i o WA & dFgd 01 Haad (SAFIBRICH ) JAFR
& U 9aSET A, B 91 C w1 315939 ek 311 few 7w gedi & I i

(%) @ GASHI AdA B H € fpad 39 SITAT Wl &l Yok g7 ol a9
T 2 379 I hl =ArEEAdT fag hifSu |

(@) GASH-CH Iau II T § i9-H I8 o SuAT el a1t 8 | 3199 I
& =T fag Hife |

19. m-RNA &1 T& HIcd-eh 79 @S Sl Th Gk TAIRISS @ H He oha
HT 3, & feu T e (SR W fomm Hifse qur 3m feu @ ywEi & 3w
ﬁ?ﬁgQ:

mRNA 5" —-UCAUUACCACGAUUCUUUAAAAGA -3’

(%) Afg 59 (UlEE) The (HIEH) | U o TAF W ¢’ Ifeniud g1 91, qil
fqu Uyl (FIEHl) T fohad THHT o ST ? 394 I hl ST
T |

(@) 39Y% mRNA % ¥AH mRNA ¥ J@l =¥ Yehe (PisH) § A ¢
TYE W U’ Bl, df Gyid 8 a1 TicAluess § UHHT 3Tt shl 9&an
fafeu | 3o IR Y =rEaar fag i |
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SECTION B

17. “Amniocentesis is a very useful and important technique, but due to some
reason there is a statutory ban on amniocentesis.” Justify this statement. 2

18. With reference to the set-ups (A, B and C) given below, of the
electrophoretic separation of a mixture of DNA fragments of varied
lengths, answer the questions that follow :

(a) In which one of the two Set-ups, A or B, would you see the DNA
fragments separated and why ? Justify your answer.

(b)  In Set-up C, which one of the two, I/1I, are the bands of longer
fragments of DNA ? Justify your answer. 2

19. Consider the given data of a hypothetical small portion of mRNA that
codes for a functional polypeptide chain and answer the questions that
follow :

mRNA 5 — UCAUUACCACGAUUCUUUAAAAGA - 3’

(a) How many amino acids will be formed from the given codons, if

substitution of ‘U’ by ‘C’ takes place at the 5t codon ? Explain your
answer.

(b)  Write the number of amino acids that would be in the polypeptide
synthesised by a similar mRNA as above, where in the fourth
codon instead of ‘C’ there is ‘U’. Justify your answer. 2

57/3/3-13 13 WAV NN P.T.O.
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21.

22,

23.

(%) TH T NG § ATE =5 o GQUH o il THE o Hgaqul

arfrerernr forfey |
AUAT
(@) () AT W ) FETEE a9 Hefadi o faw Sif agfg aer &
o 1= FeY T A6 FHwaor iy |

(i) T ST JHH W $H §Y T GHIHU faRay |

SFH (hT) FT 7 2 T 3H IR W Yfese HUAT A1l 7, A1 T8 fhT AUR W
(IR e wtar 7, fafEu |

Qus 1

T SIS o GHTF TTERIT sl ST & = 15T | 39 Tohegl
o= ffa =0 st AmifeRa hIT qem 39k TRl 1 el hifoT |

T R A (FeT) 9T AEES H @ arel didi < gfee # g arel afterdd b Q@
grEREl T 9o @ & = e g el w2 | s\ st hifsie
qAT IGeh AW U MU T o IW GNC | R A9 qAT g FqY TeAdl Ala
(srreft / 3rrrelt) gr Frefua fepg e 2 |

S Th el
(afer=rt =p1 wered)




20. (a) Write important features of ‘humus’ formed during the
decomposition cycle in a terrestrial ecosystem. 2

OR

(b) @) Graphically represent the relationship between species
richness and area on a log-log scale for bats and fishes.

(ii)  Write the equation for the relationship as on a logarithmic
scale. 2

21. What is a vaccine ? Write the basis on which it acts when administered in
the body. 2

SECTION C

22. Draw a T.S. of a mature anther of an angiosperm. Label its any three
wall layers and mention their functions. 3

23. A population of snakes lived in a desert with brown sand. Study the
drawings given below showing the change in the population from ‘one’ to
‘two’ over time and answer the question that follows. Brown snakes and

Grey snakes are represented by alleles A/a (Dominant/recessive).

Population-one Population-two
(Migration of Birds)
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(%) Il qAMCTH | UM Tomives 6l AR 9% 7, AT GRS TATE T
TSt wTelt @i (wat) i STahd 1 aiehed ST |

(@) foem & 3@ frarfafy &1 @ fofer s woasy mmfeas &
el 1 forshrd g3 |

24, (%) () NG G H = dTfed Tt sl STUT ML B ITAN A & qf
T HIOT i T FET |
(i) SETE 9 ° S g8 hed (W) & Rl T 3T A Ieoiw
HIT |

HAYAT

o~

(@) fafreast gro amm=a: F=fafaa TR & Iw=m o 3w fhr S o
SIFETshT 3TU] qAT ITeh AT A sl AW AT :

(i)  HRIRISIA SHH

(i)  BfR HIAEUA hl 3 &1

(i) 3wl

25. TAfIREd o YR W A § B A1 HSSHA oh s TIHg hilT
(%) kT e I BT 8 |
(@) vfd WA IEhepITEhIl /Tafih 378 gRI 399 HREISA Il hi
T |

(1) a7 foRre sravad SEl g fawsH-11 90 8T 2 |
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(a)

(b)

24. (a)

(b)

If the frequency of the recessive trait is 9% in population-one, work
out the frequency of homozygous dominant and heterozygous

dominant snakes.

Name the mechanism of evolution that must have operated so that

population-two evolved from population-one. 3

(1) List two major reasons for using cow-dung in a biogas plant

instead of using domestic sewage.
(ii)  Mention one use of the unspent slurry of the biogas plant. 3

OR

Name the bioactive molecule and its microbial source generally

used by physicians to treat the patients for : 3
(1) Myocardial infarction

(i1))  High blood cholesterol level

(iii) Organ transplantation

25. Differentiate between spermatogenesis and oogenesis in humans on the

basis of the following :

(a)

(b)

(c)

57/3/3-13

When the process is initiated.

Number of functional gametes produced per primary

spermatocyte/oocyte.

Specific site at which meiosis II is completed.
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26. WX W Wi & T T (FU1) STHI/EHE (Viv) au1 57 i fefa s1efia /s
(A/a) 9T Tt o o9 99 HiF (FhT) Y W | A9 € T8 aifenT § ‘@, b’
TAT ¢’ 31 | Sk o GRIATET (HHICEY) qAT Fy Fald o HHICET 1 =
iR |

7% 918 (F1275T) F; 9igl (#11e157)

(a) s, 31efiT x AW, e 6/16 T%e, 3eflT
2/16 T%e, 3T

6/16 ST, 3ref
2/16 ST, 3ref

(b) SR, stafT x The, i 1/4 ST, i
1/4 ST, 3T
1/4 The, A&fi
1/4 9%he, 37

(c) oI, 31efia x S, Irefim 3/4 S, stefig
1/4 G%he, 31&f

T ‘@’, D’ qUT C b IAHh hid H Tcdeh Seh b SHICIST 1 HATheld hifST
(9T I8N) |

27. TUfIq 3SEN < TERAT ¥ UG B wweer i gl i\ ffeerett
e HIT |
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26. Three crosses were carried out in pea plants with respect to flower colour

violet/white (V/v) and flower position axial/terminal (A/a). Study in the

table the crosses ‘a’, ‘b’ and ‘¢ where parental phenotypes and their F,

progeny phenotypes are given.

Parental plants (Phenotypes)

F; Progeny (Phenotypes)

(a) Violet, axial x white, axial

6/16 white, axial
2/16 white, terminal
6/16 violet, axial
2/16 violet, axial

(b) Violet, axial x white, terminal

1/4 violet, axial
1/4 violet, terminal
1/4 white, axial

1/4 white, terminal

(c) Violet, axial x violet, axial

3/4 violet, axial
1/4 white, axial

Find the genotypes of each of the parental pairs of crosses ‘a’, ‘b’ and ‘c’.

27. Explain any three roles of ‘predation’ in an ecosystem with the help of

suitable examples.

57/3/3-13 19
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28. (%) 3 QT T AT AW TeIRGT {Sreeht 3TN Mieteh AW HiH Ueht e
(GM) T HESA o NY TIR HH H Sa-Genfieh! § 98 T ) foram St
2 |

(@) SiuH (GM) HUH BHA el o MHAT T Jiee Hid § fobm g wmed
Bl B, S HifY |

Qs ¥

JI7 G&IT 29 TIT 30 FH-3TRT J97 & | Icdh J97 & 8 39-J97 & [5G U 39-J97
q 371aRe% 13cy 1297 a7 8 )

29. Tmafafg ufi=se = yeet am feu U ywat o I 5w |
TS SeAe Wienfieht 8 gfdees gemeH o1 3w fohen Simar 3, sife 9
gy ¥ fafire spa 1 g L 39 foig W *ed & | BamH I 36 TR 1
T Jfqaed TARH §, S 5’ G-G-A-T-C-C 3’ % Ug9H 3ThH & 99 H TAh
59 I G AT G o o Hiedl & | S&ish Alu I 989H A 5 A-G-C-T 3
T Y HL S TIHAI o T Toae i G YT C o & | hedl & |

(%) 3Afg fer U SuAw w3 & Hred & T Alu I w1 3T Tk S,
AT o fohad @S ST ? 4 dTol Tieh @S Wl TshH ITeh! YaurdT o
a1 fara |

5 C-C-G-T-A-G-C-T-A-T-C-A-G-C-T-G-G &
N T T N O A N (R N I N

33 G-G-C-A-T-C-G-A-T-A-G-T-C-G-A-C-C ¥

(@) feu Tu 3t AT e W S AT 319 S o foft BamH 1
YT Alul Sfdeeq Taregat 4 O forment stfemmmar (smafiepar) <€ smort
3R i ?

(1) fepreeh Seaw & g TR G dEF G S F I T R
Hed & T fope falree sod (fog) W Afdeed TSmsH &1 Hum 2
Jideed WAt gl ST § 9ga I Tl fafime <faaerss
3TIHH T JTHTTN 9¢ /AT W faRa |

HAYAT

() wfeed WeIFATS EcoRI §RIT EITAT W Yga W dTet fafyrse qgaH
IThY ! Torfaw |
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28. (a) Give the scientific name of the bacteria widely used in
biotechnology to create a GM cotton crop resistant to bollworm
attacks.

(b) Explain how GM cotton crop is able to resist insect attacks. 3

SECTION D

Questions no. 29 and 30 are case-based questions. Each question has
3 sub-questions with internal choice in one sub-question.

29. Read the passage given below and answer the questions that follow.

In recombinant DNA technology, restriction enzymes are used as they

recognize and cut DNA within a specific recognition sequence. BamH I is

one such restriction enzyme which binds at the recognition sequence

5" G-G-A-T-C-C 3’ and cleaves this sequence between G and G on each

strand, whereas Alu I binds at the recognition sequence 5" A-G-C-T 3’

and cleaves these sequences between G and C on each strand.

(a) If Alul is used to cut the given DNA strand, how many DNA
fragments would be formed ? Write the sequence of each fragment
formed with its polarity. 1

5 C-C-G-T-A-G-C-T-A-T-C-A-G-C-T-G-G &

N T e O R R A
3 G-G-C-A-T-C-G-A-T-A-G-T-C-G-A-C-C ¥

(b)  Which one of the two restriction enzymes BamH 1 or Alul will
preferably be used on the same given DNA strand to make a
recombinant DNA molecule and why ? 1

(c) After binding to the two strands of the double helix DNA, where
specifically does the restriction enzyme act to cut the two strands of
DNA ? Write the specific term used for the specific nucleotide

sequences of DNA recognised by a restriction endonuclease. 2
OR
(c) Write the specific sequence of DNA segment recognised by the
restriction endonuclease EcoRI. 2
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30. Study the figures given below that depict the comparative age
distribution of human populations in Sweden and Rwanda. (International

Data Base 2003) and answer the questions that follow :

Sweden
”@ Males Females
o
[«)]
>
&
<
Percent of population
Rwanda
)
i
3
> Males Females
[eb]
a0
<

Percent of population
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31. (&)

32. (&)

(@)
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TETSl o Jag YR dral 3y TRie & w= fshy Fehran S dehel 7 2
fo # feu U sAfeRet i TEEE @ U IW w1 T (gfse) Hifse |

e 1 SHEE 1 AT foawr SgR & 3 qe T Tk S =iel

2 | 98 41 3fid Har § ?

I feu MU wieT & smEen oy fifig & yer @1 am fafew |
arerat

3<h NI T T@ieT & 317y TRfirs &1 yer fafaw |

Qs &
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(i) &% AW H TEEHS S(HT shl Fishaar o Ry (feafm
M)’ ht swrEifafer (Jurmeft) i =men HifvT |

(i) “‘FF TaIH & T H FROTHS FEEE wHEr A 2 17 HRo
1 IPT Hd gL HYA Sl FRETad (ifa) fag Hifm |

(i) ISHIETE & HHd IR ° Yfase g 6 91¢ 9 Hshiid b <hl
HTel 0+1%oils H=X g0 h1e ST deh hl 3G B oi7sgifegq <
Sfiem =sh &1 Ui hifse |

(i)  w7sHIeTg o Sad <k § Hel 7%l & IO B 99d gH
Tl € THEEATST Rl oo hifoTU |

AAAT

(i)  YcH 3eE AT geH 3Hg & o< ol A foaRay |
(i) T o ANFH TG Thgl O HEHIH® Tl i STE
HIfT |
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(a)

(b)

(c)

(c)

31. (a)
(b)

32. (a)
(b)

57/3/3-13

What can be inferred from the very broad base of Rwanda’s age
pyramid ? Support your answer with the data provided in the figure. 2

Sweden has an age distribution that is approximately of the same

width near its base as at the apex. What does this indicate ? 1
Name the type of age pyramid shown above for Sweden. 1
OR
Name the type of age pyramid shown above for Rwanda. 1
SECTION E

“The influence of both the alleles in a heterozygous state is clearly
expressed in codominance.” Explain with the help of inheritance of
ABO blood group in humans. 5

OR
“A group of genes are regulated and expressed together as a unit in

lac operon.”

i) Explain the mechanism of switching ‘on’ of the structural
genes of lac operon.

(ii))  “Regulation of ‘ac operon’ is referred to be negatively
regulated.” Justify giving a reason. 5

(1) Describe the life cycle of Plasmodium from the time it enters
the human body till a female Anopheles mosquito bites an
infected person.

(ii) Mention the two events of Plasmodium life cycle that occur
within the female Anopheles body. 5
OR

(1) Write two differences between malignant tumor and benign
tumor.

(ii)) Explain any three diagnostic techniques for the detection of

cancer. 5
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33. (a) (1) Explain any four devices that flowering plants have developed

to encourage cross-pollination.

(ii)) Why do plants discourage self-pollination ? State any one

reasomn.

OR

(b) Explain the ovarian and uterine events taking place along with the
role of pituitary and ovarian hormones, during menstrual cycle in a

normal human female under the following phases :
(1) Follicular phase/proliferative phase
(i1)  Luteal phase/secretory phase

(iii) Menstrual phase





